Economics 102

Spring 2004

Solutions to practice questions #4

Binary Questions

1) b.

2) b. The price will decrease until the Quantity Demanded equals the Quantity Supplied.

3) a. It follows from the fact that: GDP per capita = (National GDP / Population)

4) a.

5) a. This is because the growth in employment has been caused by a shift of the demand curve for labor to the right.

6) b. 

Multiple Choices
1) c.

2) c. A country could exhibit a national debt even if it had a budget surplus in the previous year.

3) a.

Problems
1) The Labor market in the country of Fantasyland can be represented by the following picture:
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Then:

a) At the Real hourly wage of $15, there is an excess demand of 200 workers.

b) According to the Classical view, the Real hourly wage is going to increase in order to guarantee the full employment in the economy and it will eventually settle at the value of $20. The number of workers employed at this wage is 200.

c) The Full Employment output is 40M units.

2) a) There is a budget deficit of $ 950.

b) Quantity of funds supplied = Savings = $ 2250

Quantity of funds demanded = Planned Investments + Budget deficit = $ 1300 + $ 950 = $ 2250

Then, the loanable funds market clears.

c) Total leakages = Savings + Taxes = $ 2250 + $ 1050 = $ 3300

Total injections = Planned Investments + Government Purchases = $ 1300 + $ 2000 = $ 3300

d) Say’s law holds in this economy, given that Total leakages = Total injections. This equality is guaranteed by the fact that the loanable funds market clears.

3) a) The productivity is 3 units per worker.

b) Output is going to increase.

c) The new productivity is 3.2 units per worker.

d) The capital per worker changes from $1,600 to $2,000.

4) a) Yes. The cut in government programs is a cost of growth.

b) Yes. The pollution caused by the new technology is a cost of growth.

c) Yes. The reduction in time available for non-working activities is a cost of growth.

d) Yes. Shareholders will receive smaller dividends and they will therefore have less purchasing power from their stock holdings. This is a cost of growth.
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